The article was written about pterosaurs, it is saying that pterosaurs could not able to fly because they were too big even as large as a giraffe, but the professor does not agree with the passage they might be capable of flying.

The first reason passage mention to is that pterosaurs were cold-blooded and most of cold-blooded instead of warm-blooded animals can not produce a lot of energy and flying is work with lots of energy, but the professor does not think so, she thinks pterosaurs had hair and fur that covering them because they body need to had high temperature especially in cold weather in this way we find out they were warm-blooded.

The second reason is that because the size of pterosaurs were large they most were heavy too and they could not able to flap their wings fast enough to stay in the air for a long time, but the professor thinks maybe they had a large body, but they bones had low weight.

The third and last reason is that pterosaurs for flight first need to take off from the ground like all animals. For example birds before flying they jumping or running and after they speedup then jumping to take off from the ground, but pterosaurs because of the large body they had and small muscles in the back of their legs they could not run fast or jump high enough to fly, but professor express that birds only use two limbs but pterosaurs use four limbs of they legs not just their back.
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